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Sanskrit dependency trees Building a syntax of classical Sanskrit

1. Collecting data:

(a) Dependency trees

(b) Dep. trees → syntactic trees

2. Comparing structures by graph matching

3. Deriving syntactic time markers?
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Sanskrit dependency trees Historical developments in the Sanskrit vocabulary
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Sanskrit dependency trees Yuret’s parser (I)

Basic principles of Yuret’s parser:

• Dependency structure defined by mutual lexical information →
undirected graph

• Graph should be acyclic (one parent per child).

• Links should not cross (projectivity).
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Sanskrit dependency trees Yuret’s parser (II)
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Sanskrit dependency trees Yuret’s parser (III)
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Sanskrit dependency trees Yuret’s parser (IV)

Improving Yuret’s parser:

1. Grammatical information

2. Verb-valence dictionary

3. Smoothing cooccurrence frequencies

(w1, w2) ⇒
∑ (w′

11, w2)

(w′
12, w2)

. . .

4. Syntactic rules (fixed, enforcements)

7



Sanskrit dependency trees Examples (I)

śrutvā tatheti rājā ca pratyuvāca purohitam

* śru tathā iti rājan ca prativac purohita

−2.29

−2.65

−1.16

−2.22

−2.32

−8.04

evam. sa nyavasat tatra sarvakāmaih. supūjitah.

* evam tad nivas tatra sarva kāma su pūjay

−5.20−5.18−2.44

−9.08−2.21

−5.41

−6.69
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Sanskrit dependency trees Examples (II)

śrutvā tatheti rājā ca pratyuvāca purohitam

* śru tathā iti rājan ca prativac purohita

−2.23C•−6.96C−1.26• −2.08•

−3.37

−2.12•

evam. sa nyavasat tatra sarvakāmaih. supūjitah.

* evam tad nivas tatra sarva kāma su pūjay

−5.02−5.21−9.55•−5.12•

−7.34•−2.46

−5.25•

−7.42

9



Sanskrit dependency trees Examples (III)

śrutvā tatheti rājā ca pratyuvāca purohitam

śru tathā iti rājan ca prativac purohita

−2.77C•−6.87C−2.61•
�����

����

fixed

−8.65

����������

���������

fixed

evam. sa nyavasat tatra sarvakāmaih. supūjitah.

evam tad nivas tatra sarva kāma su pūjay

−4.98−5.54�����
fixed

−6.67•−7.53

−4.68•
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Sanskrit dependency trees Examples (IV)

pramān.abhūta ācāryo darbhapavitrapān. ih. prāṅmukhah. śucau avakāśe

upavísya mahatā yatnena sūtram. pran.ayati sma

pramān.a bhū ācārya darbha pavitra pān. i prāṅ-

mukha

śuci ava-

kāśa

upavís mahant yatna sūtra pran. ı̄ sma

−1.99C−4.90C•−2.19C•−2.16C•−2.18C−9.99−3.07

−2.51C−3.83 −2.29C

−2.67C• �������

							

fixed

����������

���������

fixed
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